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OVERVIEW

In our X773 there are three statements of 72M° " (in the following order); a) "X
TINT M 2°9aR, b) TN T °9aAR PRI 7IWYA 292K 1973, and ¢) Avaw 95 M2 o°haR no7a
I n 0°%aR PRI, Initially the &3 assumed that ‘a’ was said regarding 77 W. The
X713 rejected that because of ‘b’ (where it mentions 77372 and there is no 7272 by
the 77w). The X713 answered (instead) the °"1 was discussing 7am." There are two
N0, whether we are 'ROX' 0713 (as in the 73"7 of this N©OIN) or not. MdOIN
discusses both N7,

- 1AM TRYN M) 9I¥9T NINNT NPV “NIN 1909 ON
It the text read '8%X', it indicates that the previous statement of *"1 (statement
‘a’; see ‘Overview’) is also discussing 72m9.

nvoIn asks:
- 3‘[111 Doy NINN 1IN 2297 9991 299N 19980 NNIY NI

And it is astounding! Why are the two statements of >'"'9 necessary; the
previous statement ‘a’, and this statement ‘b’, since they both discussing 72m17?!

N1B0IN answers:
- S99 X999 ¥91 XN *9nNR NNIAN Y991 NTNT 919 TN

And it is necessary to say (that °"7 said only one statement [‘b’] and), that one
statement was derived from the other; the previous one ‘a’ was derived from
this one, 'b’ —

Moo continues with the other Xo7):
= MYTH D29 XY NANII NI NIV 299X DIPHT NN NIN 19909) NY N DAN

However if the text does not read 'X%X', it is preferable, for previously [‘a’] is
discussing 7w that ten are required but P37 72 2°22R X, and here [‘b’] we are

! Statement ‘c’ of >"1 is also 7ann2, but in a case of MwIn o°19.
* The word '®9X', indicates that we are retracting any previous resolution. Therefore we retract the previous answer
that statement ‘a’ of *" is regarding 77, since statement ‘b’ cannot be regarding 7.
? Both statements are saying the same ruling that by 72712 2°7a8 n272 the 2°92K are not 1737 1.
* pry> 1 repeated the statement of "1 (‘b’) in two ways; statement ‘a’ and statement ‘b’. See “Thinking it over’ # 1.
Tt certainly cannot be that ‘b’ (which states "2 0°7a8 n312) was derived from ‘a’ (which merely states 12 2°7aR X3
1°317), which does not mention the requirement of ten.
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discussing 1729 without nw7n 2%1o -
— 71317 11 ©5AN PN MYTN 023937 NYNYAY 79817 13NN 539 Y NOPYIYY NI

And the third statement of 3" [‘c’] was necessary to inform us that (even) by
mwTn 2% the 2%9aR are not 157 7 -
- N99IN NN 11 NN Pom) N
And if it would only mention that one [‘c’], I may have said the opposite, that -
:/% X932 1Y £99931) %90 999W PYNT 0192 YAR TYINY PYNT 09 NPT

Only from the first day onwards do we require ten besides the 0°2ax, however
on the first day the o°9ax have a greater connection and we can make this

blessing without ten non mourners, but rather the mourner can be part of the ten.'' Therefore
we have the second statement that even on the first day "7 11 0°92K PR.

SUMMARY

If we are 'R?X' 07, there are two statements of > regarding 72arn. If we are not
'XPX' 07, there are three statements, one regarding 7MW, one regarding 72mM
without Mw7n 0°19 and the last with mw7n 0°15.

THINKING IT OVER
1. Why indeed are we 'R?X' 0713, according to the first X07°x and have the issue of
7n7an Y2on X0, when we could have simply said like the second xo73?"

2. The "1 explains' that when mpon concluded; 75 07372 %01 "™ WK1 012 IR
" X732, he means that the 0°22x are included. Why could he not learn noon simply that
(we would have thought that) on the first day we do not require a 71 at all"> (however
according to the s'2"w explanation, '01n should have said 171177 1 ovhar) 211

% 1t certainly teaches us that by nw7n 012 there is 7vaw 2 0°2a8 N272; however '01n is explaining why it added X
17317 11 272X, This answer would apply to the other Xo°x as well.
7 We may have thought that only on the first say P27 72 2°22% X, since the 2K is extremely embittered and in deep
mourning, however on the subsequent days when his bitterness has subsided he may be 1°177 1.
¥ This applies to the other o7 as well.
’ moon is explaining why it mentions statement ‘b’ at all; we should mention only statement ‘c’ and we would know
that if 137 72 2°%2K X all the other days then certainly on the first day 1371 11 22228 X (see footnote # 7).
' In the 7"mn and yI8w "0 the X073 is 'X2™W' (in the singular, referring perhaps to the 71912), not *2»w (in the plural).
' See "wmn. See ‘Thinking it over’ # 2.
2 See footnote # 4.
P See X"wmn
1 See footnote # (10 &) 11 .
"> This perhaps is the view of 7"n and yaxw '01n. See footnote # 10.
16 See ®°37 xR, (¥"¥V.)
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